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MATRE+RE |ME TIRIE| BoTHE~ B |WE TIRIE| AR+ BE |NE TRE
(Ba/kg) (Ba/kg) (Ba/kg) (Ba/kg) (Ba/kg) (Ba/kg)
2H078 10:57:36] 25% N EFhRE 650 V-5 [ FA#&H <20.0( <20.0 | F+#&H<8.8 <8.8 |AFHmH<I1.2| <K11.2 | EFHFE
18298 10:53:43| 254 HEIE oY 650 V-5 [ FA#&H <20.8| <20.8 | A#&HE<9.1 <9.1 FAuEE<IT] <117 | FFER
128118 12:05:56| 279 LAVDE | vy 619 V-5 [ FA#&H <20.5| <20.5 THEH<9.1 <9.1 FTEE<I1.41 <114 | RFE
118088 10:22:01| 30% EMY Ty 081 V-5 [ FA#&H <20.6| <20.6 THEH<8.9 <8.9 FEE<IT| <117 | RHFE
108178 11:24:39] 30% Enfd AS 584 V-5 [ A#&H <20.9( <20.9 THEH<9.1 <9.1 TRE<11.8| <11.8 | dtiEE
98138 11:24:46| 279 wiE NESE S 605 V-5 [ R <21. 4| <21.4 THH<9.4 <9.4 FAHHE<12.0| <12.0 | EHE
8H098 10:45:48| 274 |[WF ALY AS 605 V-5 [FAEH <211 <21.1 THRH<9.2 <9.2 FHEHE<I1.9] <<11.9 | EHE
7B118 12:50:40( 274 E oY 607 V-5 [ FA#&H<21.0( <21.0 THERH<9.2 <9.2 FHEH<11.8 <11.8 | RHFE
68128 11:52:25| 304 N F5NAE| 568 V-5 [ FA#&H <21.5| <21.5 THERH<9.2 <9.2 TRE<12.3| <12.3 | RHE
58238 12:32:44] 30% LAYFE LA X 594 V-5 [ FA#&H <20.4( <20.4 THH<9.0 <9.0 FAuEE<I1.4] <114 | EHFE
48118 12:05:04] 30% HEE Ty 578 V-5 [ FA#&H <20.6| <20.6 THH<9.0 <9.0 FHEHE<11.6| <11.6 |[B/BER




